: 8.6

@7 @1 @)0 ® 10

D 8.6




o]7} 54 f o] Yoj
o] Qo|7} 2hagtA g

=
—
ol

30},

Hol= 2 ha




W] g0l 1em )l 7152 BHol7t650.4em
59 %ol ¥ em PN

@ 10cm @ 9cm @SCHI @ 7cm

> o, o] 7]

® 6cm

B

27159 2ye))
(Rlol) x2+ (F4ol)olma

Eol=[ |=tstd

659.4 = TX7x314x2+2x7x3.14x[ ]
= 307.72 +43.96 x|

43.96 x| ] =351.68

DzS(cm)

—~




4. o5 IHNA EolE YEhd A2 BF H A AE2AL,

rlo

1_1:1
)

@ 571 @ 471 ® 371 @ 271 @1711

LEO Eole Y29 EAYANA B oz T2 Awol
Bg dEn= g Ay







@D 3x3x3.14 x4 = 113.04( cm?)
@ 3x3x3.14x2 = 56.52(cm?)

® 2.5%x25x3.14 x4 = 78.5(cm?)
@ 2.5 % 2.5x3.14 x 2 = 39.25( cm?)
® 2x2x3.14x 3 = 37.68(cm?)




